

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SGA 5333T

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT BUMPER	TORN	\$1,355.80	\$925.00	
1	FRONT BUMPER SIDE HOLDER	NOT NECESSARY	\$97.20	\$0.00	
1	HEADLAMP	NOT NECESSARY	\$3,108.30	\$0.00	
1	FRONT FENDER	NOT NECESSARY	\$890.20	\$0.00	
1	FRONT FENDER INNER SHIELD	TORN	\$289.90	\$289.90	
1	FRONT SHOCK ABSORBER	NOT NECESSARY	\$485.30	\$0.00	
1	FRONT KNUCKLE ARM	DAMAGED	\$628.80	\$628.80	
1	FRONT WHEEL HUB	DAMAGED	\$368.90	\$368.90	
1	FRONT WHEEL HUB BEARING	DAMAGED	\$284.50	\$284.50	
1	FRONT LOWER ARM	BENT	\$267.50	\$267.50	
1	STEERING RACK & PINION	NOT NECESSARY	\$2,251.20	\$0.00	
2	REAR NUMBER PLATE LAMP @\$86.50	NOT NECESSARY	\$173.00	\$0.00	
1	REAR BUMPER	DISTORTED	\$1,136.90	\$895.00	
2	REAR BUMPER SIDE HOLDER @\$95.10	O/S SMASHED	\$190.20	\$95.10	
1	REAR BUMPER TOW COVER	MISSING	\$42.20	\$42.20	
2	REAR BUMPER REFLECTOR @\$125.90	MISSING	\$251.80	\$251.80	
2	REAR BUMPER IMPACT BRACKET @\$105.20	O/S DISTORTED	\$210.40	\$105.20	
1	REAR BUMPER SIDE UNDER COVER LH	NOT NECESSARY	\$101.40	\$0.00	
1	REAR BUMPER SIDE UNDER COVER RH	DISTORTED	\$119.50	\$119.50	
1	REAR END PANEL	DISTORTED	\$788.10	\$788.10	
1	REAR END PANEL TOP GARNISH	DEFORMED	\$296.70	\$296.70	
1	REAR END PANEL ANTENNA SENSOR	NOT NECESSARY	\$285.40	\$0.00	
2	TAILLAMP @\$731.20	N/S CRACKED / O/S SMASHED	\$1,462.40	\$1,462.40	
1	TAILLAMP OUTER GARNISH	MISSING	\$121.30	\$121.30	
2	TAILLAMP PANEL @\$409.40	DISTORTED	\$818.80	\$409.40	
2	TAILLAMP INNER PANEL @\$510.20	DISTORTED	\$1,020.40	\$510.20	
2	TAILLAMP LOWER APRON @\$365.80	O/S DISTORTED	\$731.60	\$365.80	
2	TAILLAMP LOWER APRON RETAINER @\$58.60	O/S DAMAGED	\$117.20	\$58.60	
1	TAILGATE	DISTORTED	\$2,120.40	\$2,120.40	
1	TAILGATE LOCK	DAMAGED	\$495.10	\$495.10	



	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	TAILGATE LOCK CATCH	NOT NECESSARY	\$69.50	\$0.00	
1	TAILGATE WEATHERSTRIPE	CUT	\$387.70	\$387.70	
1	TAILGATE OUTER GARNISH	CRACKED	\$986.90	\$986.90	
2	TAILGATE OUTER GARNISH LAMP @\$349.60	O/S CRACKED	\$699.20	\$349.60	
1	TAILGATE OUTER GARNISH OPENER SWITCH	NOT NECESSARY	\$299.10	\$0.00	
1	TAILGATE OUTER GARNISH LOWER CHROME MOULDING	NOT NECESSARY	\$315.20	\$0.00	
2	TAILGATE REFLECTOR @\$495.40	O/S SMASHED	\$990.80	\$495.40	
1	TAILGATE INNER TRIM BOARD	DEFORMED	\$710.60	\$710.60	
2	TAILGATE INNER TRIM BOARD (SIDE) @\$199.30	DEFORMED	\$398.60	\$398.60	
1	TAILGATE INNER TRIM BOARD (UPPER)	DEFORMED	\$289.40	\$289.40	
2	TAILGATE DAMPER @\$392.30	NOT NECESSARY	\$784.60	\$0.00	
2	TAILGATE HINGE	NOT NECESSARY	\$204.60	\$0.00	
1	TAILGATE GLASS	SHATTERED	\$1,866.90	\$1,866.90	
1	TAILGATE GLASS MOULDING	NECESSARY	\$193.80	\$193.80	
1	TOYOTA LOGO	NECESSARY	\$79.40	\$79.40	
1	VELLFIRE WORDIG	NECESSARY	\$89.50	\$89.50	
1	REAR FENDER	DISTORTED	\$1,355.10	\$1,355.10	
1	REAR FENDER INNER PANEL	DISTORTED	\$685.50	\$685.50	
1	REAR FENDER INNER HORIZONTAL MEMBER	DISTORTED	\$541.50	\$541.50	
1	REAR FENDER WHEEL HOUSE PANEL	DISTORTED	\$741.10	\$741.10	
2	REAR FENDER INNER TRIM BOARD @\$1570.80	O/S DISTORTED	\$3,141.60	\$1,570.80	
2	REAR FENDER INNER TRIM BOARD UPPER @\$620.30	O/S DEFORMED	\$1,240.60	\$620.30	
2	REAR FENDER INNER SHIELD @\$295.30	O/S TORN	\$590.60	\$295.30	
1	REAR FENDER GLASS	SHATTERED	\$652.90	\$652.90	
1	AIR CON BLOWER	CRACKED	\$3,612.20	\$3,612.20	
1	AIR CON BLOWER AIR DUCT	DEFORMED	\$352.20	\$352.20	
1	AIR CON BLOWER SUCTION PIPE	BENT	\$344.90	\$344.90	
1	AIR CON BLOWER DISCHARGE PIPE	BENT	\$385.50	\$385.50	
1	SPARE TYRE CARRIAGE	NOT NECESSARY	\$366.80	\$0.00	
1	FLOOR PANEL	DISTORTED	\$1,220.80	\$1,220.80	
1	FLOOR PANEL TOP MAT	TORN	\$866.10	\$866.10	



	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR SEAT RAILING	BENT	\$589.90	\$589.90
1	REAR SEAT RAILING TOP COVER	DEFORMED	\$201.90	\$201.90
1	REAR SEAT BELT	JAMMED	\$787.40	\$787.40
1	SLIDING DOOR	BUCKLED	\$2,020.30	\$2,020.30
1	SLIDING DOOR LOCK	DAMAGED	\$488.30	\$488.30
1	SLIDING DOOR AUTO LOCK MOTOR	NOT NECESSARY	\$1,686.90	\$0.00
1	SLIDING DOOR WEATHERSTRIPE	TORN	\$307.10	\$307.10
1	SLIDING DOOR RAIL	BENT	\$458.80	\$458.80
1	SLIDING DOOR RAIL BRACKET	BENT	\$70.10	\$70.10
1	SLIDING DOOR RAIL OUTER COVER	DEFORMED	\$254.50	\$254.50
1	SLIDING DOOR RAIL MOULDING	DEFORMED	\$154.50	\$154.50
1	SLIDING DOOR ROLLER GUIDE	BENT	\$241.90	\$241.90
1	SLIDING DOOR INNER TRIM BOARD	NOT NECESSARY	\$1,007.40	\$0.00
1	SLIDING DOOR FRAME WEATHERSTRIPE	NOT NECESSARY	\$451.50	\$0.00
2	SLIDING DOOR VERTICAL GARNISH (BLACK) @\$120.20	NECESSARY	\$240.40	\$240.40
1	SLIDING DOOR LOWER PROTECTOR	NOT NECESSARY	\$732.50	\$0.00
1	SLIDING DOOR GLASS OUTER MOULDING	DEFORMED	\$152.60	\$152.60
1	ROOF PANEL	TO REPAIR SEE LABOUR	\$3,058.80	\$0.00
1	ROOF PANEL INNER TRIM BOARD	CRUMPLED	\$1,652.80	\$1,652.80
2	ROOF PANEL TOP MOULDING @\$262.20	O/S DEFORMED	\$524.40	\$262.20
1	REAR AXLE	BENT	\$2,383.90	\$2,383.90
2	REAR SHOCK ABSORBER @\$401.20	O/S BENT	\$802.40	\$401.20
2	REAR WHEEL HUB C/W BEARING @\$450.50	O/S DAMAGED	\$901.00	\$450.50
2	REAR COIL SPRING @\$301.20	NOT NECESSARY	\$602.40	\$0.00
1	REAR EXHAUST PIPE	BENT	\$825.70	\$825.70
1	REAR EXHAUST PIPE MOUNTING	NOT NECESSARY	\$49.50	\$0.00
1	REAR EXHAUST PIPE GASKET	NECESSARY	\$32.90	\$32.90
1	REAR EXHAUST PIPE HEAT SHIELD	NOT NECESSARY	\$289.50	\$0.00
1	CENTRE EXHAUST PIPE	NOT NECESSARY	\$1,218.90	\$0.00
	LESS 25.00% DISCOUNT		(\$16,790.45)	(\$10,492.58)
			\$50,371.35	\$31,477.72



	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	\$50.00	\$50.00	
1	FRONT BUMPER LOWER SPOILER (SN)	CRACKED	\$1,500.00	\$800.00	
1	FRONT WHEEL RIM (SN)	CRACKED	\$1,400.00	\$900.00	
1	FRONT TYRE (SN)	NOT NECESSARY	\$350.00	\$0.00	
1	REAR NUMBER PLATE (SN)	NOT NECESSARY	\$30.00	\$0.00	
1	REAR NUMBER PLATE HOLDER (SN)	NOT NECESSARY	\$30.00	\$0.00	
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	\$50.00	\$50.00	
1	SET REAR BUMPER SIDE UNDER COVER LH CLIPS (SN)	NOT NECESSARY	\$20.00	\$0.00	
1	SET REAR BUMPER SIDE UNDER COVER RH CLIPS (SN)	NECESSARY	\$20.00	\$20.00	
1	REAR BUMPER LOWER SPOILER (SN)	DISTORTED	\$1,300.00	\$700.00	
1	SET REVERSE SENSOR (SN)	DAMAGED	\$280.00	\$280.00	
1	SET REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	\$20.00	\$20.00	
1	REAR END PANEL SEALANT (SN)	NECESSARY	\$60.00	\$60.00	
2	TAILLAMP PANEL SEALANT @\$60.00 (SN)	NECESSARY	\$120.00	\$40.00	
2	SET TAILLAMP LOWER APRON CLIPS @\$10.00 (SN)	NECESSARY	\$20.00	\$10.00	
1	SET TAILGATE OUTER GARNISH CLIPS (SN)	NECESSARY	\$30.00	\$30.00	
1	SET TAILGATE INNER TRIM BOARD CLIPS (SN)	NECESSARY	\$30.00	\$30.00	
2	SET TAILGATE INNER TRIM BOARD (SIDE) CLIPS @\$20.00 (SN)	NECESSARY	\$40.00	\$40.00	
1	SET TAILGATE INNER TRIM BOARD (UPPER) CLIPS (SN)	NECESSARY	\$20.00	\$20.00	
1	TAILGATE GLASS SEALANT (SN)	NECESSARY	\$60.00	\$60.00	
1	TAILGATE SOLAR FILM (SN)	NECESSARY	\$280.00	\$200.00	
1	TAILGATE TOP SPOILER (SN)	NOT NECESSARY	\$1,200.00	\$0.00	
1	TAILGATE TOP SPOILER ADVESICE (SN)	NOT NECESSARY	\$100.00	\$0.00	
1	TAILGATE AUTO LOCK (SN)	DAMAGED	\$780.00	\$780.00	
2	TAILGATE AUTO LOCK SIDE SENSOR STRIP @\$800.00 (SN)	NOT NECESSARY	\$1,600.00	\$0.00	
2	TAILGATE AUTO LOCK DAMPER @\$1000.00 (SN)	DAMAGED	\$2,000.00	\$1,400.00	
1	REAR CAMERA (SN)	NOT NECESSARY	\$580.00	\$0.00	
1	REAR FENDER SEALANT (SN)	NECESSARY	\$60.00	\$60.00	
2	SET REAR FENDER INNER TRIM BOARD UPPER CLIPS @\$20.00 (SN)	NECESSARY	\$40.00	\$20.00	
2	SET REAR FENDER INNER TRIM BOARD CLIPS @\$50.00 (SN)	NECESSARY	\$100.00	\$30.00	
2	SET REAR FENDER INNER SHIELD CLIPS @\$30.00 (SN)	NECESSARY	\$60.00	\$30.00	



	Special Nett			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR FENDER GLASS SEALANT (SN)	NECESSARY	\$50.00	\$50.00
1	FLOOR PANEL INSULATION PADS (SN)	NECESSARY	\$300.00	\$200.00
1	SET FLOOR PANEL TOP MAT CLIPS (SN)	NECESSARY	\$50.00	\$50.00
1	FLOOR PANEL SEALANT (SN)	NECESSARY	\$100.00	\$100.00
1	REAR SEAT ASSY (SN)	DAMAGED	\$1,800.00	\$1,200.00
1	SET REAR SEAT RAILING TOP COVER CLIPS (SN)	NECESSARY	\$30.00	\$30.00
1	SET SLIDING DOOR INNER TRIM BOARD CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET SLIDING DOOR LOWER PROTECTOR CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SLIDING DOOR VISOR (SN)	NECESSARY	\$80.00	\$50.00
1	ROOF PANEL SEALANT (SN)	NECESSARY	\$100.00	\$100.00
1	SET ROOF PANEL INNER TRIM BOARD CLIPS (SN)	NECESSARY	\$100.00	\$100.00
1	SET ROOF PANEL TOP MOULDING CLIPS (SN)	NECESSARY	\$40.00	\$20.00
1	REAR WHEEL RIM (SN)	DAMAGED	\$1,400.00	\$600.00
1	REAR TYRE (SN)	PUNCTURE	\$350.00	\$200.00
			\$16,690.00	\$8,330.00

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
PANEL BEATING, REMOVE AND REFIT PARTS. INCLUSIVE OF THE REPAIR OF ROOF PANEL		\$4,000.00	\$2,800.00
SPRAY PAINTING TO AFFECTED AREA		\$3,000.00	\$2,400.00
WIRING		\$100.00	\$50.00
TO APPLY TUFF COAT		\$300.00	\$200.00
TO REMOVE ROOF INNER TRIM BOARD		\$400.00	\$200.00
TO REMOVE AIR CON BLOWER & TO TOP UP AIR CON GAS		\$250.00	\$150.00
TO REMOVE REVERSE SENSOR		\$100.00	\$50.00
TO REMOVE UPHOLSTERY & REAR SEAT		\$350.00	\$300.00
TO TRANSFER TAILGATE FITTINGS		\$150.00	\$80.00
TO REPLACE TAILGATE GLASS		\$180.00	\$120.00
TO VACUUM SHATTERED GLASS FRAGMENTS		\$120.00	\$60.00
TO REMOVE REAR SEAT BELT		\$150.00	\$80.00
TO TRANSFER SLIDING DOOR FITTINGS		\$150.00	\$60.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
TO REPLACE REAR FENDER GLASS		\$100.00	\$40.00
TO REMOVE REAR CAMERA		\$100.00	\$50.00
TO REMOVE REAR & CENTRE EXHAUST PIPE		\$300.00	\$80.00
TO REMOVE REAR UNDERCARRIAGE		\$350.00	\$280.00
TO REMOVE FRONT UNDERCARRIAGE		\$350.00	\$200.00
TO PERFORM WHEEL ALIGNMENT		\$200.00	\$80.00
TOWING FEES (KING ROLLER)		\$150.00	\$150.00
		\$10,800.00	\$7,430.00
GRAND TOTAL		\$77,861.35	\$47,237.72
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$37,800.00
Report Ref No: CS/INC24070225/Anh3e2			

TOTAL FOR SPARE PARTS: \$ 67,061.35 \$ 39,807.72
TOTAL FOR LABOUR: \$ 10,800.00 \$ 7,430.00
TOTAL REPAIR COST: \$ 77,861.35 \$ 47,237.72

#### **LWP**

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.